GREEK SYNTHESIS

Frimary Active Endings.
They are the present, tuture, and perfect.
use the tollowing active endings:

Singular
1. w 1.
o ELE 2.
3. EL 3

Primary Middle/Passive Endings.

Plural
OUEV
ETE

ovai

Primary tenses are oriented to the present.
The present and

tuture

Primary middle endings are employed

fo the

with the present, future, and perfect tenses. They are:
Singﬁlar Plural
< T pat 1. peba
> gaL =1 2. ofe
3. ToL 3. vTaL
Secondary Active Endings. Secondary tenses are oriented
past. They are the 1mperfect, aorist, and pluperfect and take the

following endings:

Singular
T Vv 2 IO
2. o 2.
3. - 3.

Secondary Middle Endings.

Singular
: [ Hnv Y.
2. go 2.
3 T0O 3

Plural

HEV
TE

A

Plural

peba
oBe

VTO




Past time i1n the indicative mood is indicated by an augment pretixed
to the wverb being conjugated. Verbs that begin with a consonant
take the syllabic augment -- g Those that begin with a vawel
take the temporal augment -- a lengthening of the vowel.

Future Active Indicative. To form the future active i1ndicative, add-gO
to the present stem and then attach the primary active endings:

Example: qguov—-0d-w, XHOV—-0-ELG, AHOU—-T—EL.

Future HMiddle Indicative. Add -o to the present stem and then
attach the wvariable vowel o/ and the primary middle/passive
endings :-pai ,-oxi,-TaL ,-peda, —585,—vTaL.

Example: auOu-0-0-pdlL, GMOU-0-T), AXOU-O-E-TaL, aMou-O-o-peba,
aMov-0-e-08e, aMoOu-0-0-VTIQL.

Deponent verbs utilize these endings, but remain active 1n meaning.

Aorist Passive Indicative. The -0n attached to the augmented verb
stem is a sign of the first aorist passive -- g-Avu-6n-v, e-Av-67n-c.
The second aorist passive has the -7 but not the B.

Future Passive Indicative: Built wupon the wunaugmented aorist

passive stem, the future passive is readily identified by the—enc
followed by the variable vowel and the primary middle ending.

Example: Av-Bng-o-pat, Av-8no-n, Av-6no-e-ta,

The eq 1s a remnant of the aorist passive stem; the O shows that
the verb is future tense.

Perfect Active and HMiddle Indicative. There are four parts to the
first pertect active verb: a reduplication, stem, K suffix, and
secondary active ending. The perfect middle/passive takes the

primary middle endings, but no K or variable vowel.

PERFECT ACTIVE PERFECT MIDDLE/PASSIVE
Singular Plural Singular Plural
1. TME-TMLOTEV-HQ ME-TLOTEVU-HA~LEV ME-TMLOTEV-HAL Me-TLOTEU-REDa
2. TME=-TMLOTEU=-HOA-G ME-MLOTEV-HO~-TE ME-TMLOTEVLV-COL me-MLOTEV-OBE
3. me-miotev-ke(v) ne—nngpu—Ha—oL ME-TLOTEV-TQL ME-TILOTEV=VTQL

(ME-TMLOTEV-HO~V)




Present Subijunctive.

in the indicative mood
To the present tense

endings. Example:
ACTIVE
Singular
1. aOCHOU-W
2. aHOU-T—-G

5 25 axov-m

Plural

AHOVU-W—LEV
OHOU-T)=TE

onov-w-oL(v)

Remember that the vartable vowel o/€ used
is replaced by the long variable vowel m/n.
verb stem add w/7n followed by the personal

MIDDLE/PASSIVE

Singular Plural

aAHOU-W-pat arov-w-peda
aAHOV=T) aMov-n-cBe

AHOVU=T=TAL AHOU—W=VTAL

Aorist Active and Middle Subjunctive. Simply add 0 to the verb

stem, followed by the variable vowel

ACTIVE
Singular
XHOU=-0~W
2. AHOV-0-N=G
3. aHovV-0- 1

Aorist Passive Subjunctive.

Plural
AHOU=-0—-W—UEV
aAHOU-0-N-TE

oanouv-0-w-oL(v)

and personal ending.

MIDDLE
Singular Plural
AHOVU-O-W—HOoL AHOV-O-w-urfn

QHOU=-0-T) aHou-0-n-0Be

XHOU-TO-N-TaL OHOUV-0-WwW-VTXL

6 to the verb stem, then add

~the variable vowel followed by the personal active endings.

Singular
Av-8-0
2. Av-6-7-¢
3 Av-8-7

Plural
Av-8-B-pev
Av-8-N-te

Av=-8-m-oL(v)




Second
mascul ine,
dawd OV en the neuter.

Declension Nouns.
and end in

Most second declension nouns are
oGg (masculine) in the nominative singular
The following serves as a paradigm of nouns in

this declension.

MASCULINE NEUTER
Singular Plural Singular Plural
N. avBpwrn-0g avlpwn-ot LEP-0V LEp-a
G. avBpwm-ov avbpwrt-wv LEP-0QU LEP-WV
D. avipwn-w avBpuwn-oLg LEP-W LEP-0LG
A. avipwn-ov avBpwn-ovg LEP-OV LEPp-Q
W= avlpwn-€ avBpwn-otL LEP—-OV LEPp-Q
First Declension Nouns and Adjectives. First declension nouns are
of three classes:
1. Those whose stem ends in &£, L, or o] and is followed by a
terminal -Q in the nominative singular: dSwpek, napdia, Wpa.
In this class of first declension nouns, the -a  is retained
throughout the singular forms. For example:
Singular Plural - Singular Plural Singular Plural
N. BwpeE-a Swpe-aL napbL-a HoPO L-aL bp-a bp-at
" L3
G. dbwpe-ag dbwpe-wv HapdL-ag Hapd L-wv wp-ag wWP—-WV
” e )
D. bwpe-q bwpe-aLG HopdL—-q napdL-aLg Op-a wp-oLg
A. dwpe-av bwpe-ag napdL—-av HapbL-ag bp-av bp-ag
V. bwpe-a dwpE-aL HapdL—-a napdL-at bp-a Hp-aL
2 Those that end in -a in the nominative singular but whose stem
does end with €, L, oF pD. Nouns on thesclassification
change the to an T in the genitive and dative singular.
Singular Plural Singular Plural
N. bo0E-a SoE-aL Bao LA Lo0-o Bao LA LOC-alL
G. boE-ng boE-wv Bao LA Loo-1G Bao LA LOO—-WV
D. 60&-7 boE-aLg BaoLALoo-1 Bao LA Loo-aLg
A. boE-av boE-ag Bao LA LoOo-aV Bao LA LOC-0G
V. boE-a S0 -t Bao LA LO0-a Bao LALOO—-aL




3. First declension nouns whose nominative singular ends in -7.
With these, the n is retained throughout the singular forms
of the declension.

Singular Plural Singular Plural
N.  Quwv-1 PWV-0LL EVTOA-T EVTOA-XL
G. Quv-1mg PWV=-wV EVTOA-NG EVTOA-WV
D. Pwv-T) PpWV-aLg EVTOA-T) EVTOA-QLG
A. PwV-nVv PWV-ag EVTOA-T|V EVTOA-QG
V. GINAVER o) QWV-aLL EVTOA-T EVTOA-L
Note that the plural endings for all three classes of first

declension nouns are identical.

First Declension Masculine Nouns. First declension nouns ending

in -=ng or -G in nominative singular are masculine and are
declined thus:

Singular Plural Singular Plural

N. EQPYQT-TG EPYXT-QL nPOPNT-NG TPOPNT-0LL

G. EPYQLT—-0U EPYQT—WV TPOoYnT-0oUv TPOPTNT-WV

D. EPYQT-T) EPYQT-CLG TPOPN T~ TPOPNT=LG

A. EPYQT-TV EPpYQT-QG TPOPNT-NV TPOoPNT=0g

Vi EPYQT—-Q EpYQT-QL TPOYPNT-x TPOPNT-L
Note that the genitive singular is ov and the vocative
Adjectives. Adjectives agree with the noun or substantive they
modify in gender, number, and case. They are usually listed in
the masculine singular. To change a masculine singular
adjective into feminine, follow this simple rule. If the -0C
in the last syllable of the nominative masculine singular |is
immediately preceded by an B U or p, the feminine will
be formed by replacing the -0G with an - If the -0C is
immediately preceded by anything else, the feminine is formed by
replacing the -0G with an =1 (There are a few

exceptions that need not be considered here.)

Example:

n




MASCULINE ADJECTIVE

FEMININE ADJECTIVE

Singular Plural Singular Plural
N. bLnaL=-0G dLuaL-ot dbinaL-a dumaL-at
G. b LHaL=0V SLHaL-wv dLHaL-ag dLnaL-wv
D. B Lo L —W dLHaL=-0LG bunaL—q dimaL-aLg
A. SLnaL=-ov dLHaL=-0uUg binarL-av bLraL-ag
V. SLHL—-E bLHaL—0OL dLHaL - dLHoL—aL
N. LLHP—=0G pLHP=0L B LHP=X HULHP=CL
G. L LHP=0V L LHP=WV HLHP=0C L LHPp=-WwV
D. B LHP-W LLHP=0LG HLrp-Q HLHP-aLG
A. K LHP=-0V LLHP=-0UG L LHP=-CV HLKHP=-0G
V. LLMP—-E LL®P—-OL LLHP—X LLHP=-CLL
N. MLOT-0G MLOT-0L MLOT-N MLOT-OL
G. TLOT-0U TLOT—WV MLOT-NG MTLOT-WV
D. TLCT-W TLOT-0LG TLOT-T) MLOT-ALG
g - TLOT-0V TLOT-0VG MLOT-NV TLOT-ag
V. TLOT-€E TLOT-0L TLOT-T) TLOT-aL
N. HoA-0G HOA-OL HOA=T) HOA - L
G. HOA-OU HOA =WV HOA-TC HOA —WV
D. HOA —W HOA-OLG HOA-T) HOA=OLLG
& HOA -0V HOA-0VUG HOA-TV HOA-QG
V. HOA—-E HOA-OL HOA=T) HOA-CL
Feminine adjectives of the -7 ending are not limited to nouns of
that class —7 nouns, but can be used with feminine nouns of all
three declensions. Similarly feminine adjectives of the -«

ending may be used with feminine nouns of all three declensions.

For example: g gt naobla, Sumala Evtolf, &GAAN YAWooa, wan®) vOE -




